ENGINEERING CHANGE NOTICE

ORIGINATOR DATE ECN
Northern J. DiPietro 19-FEB-24 0844
Technologles PRODUCT TO BE CHANGED EFFECTIVE DATE
CPP 45 DEGREE GRAY FAMILY OF
CLASS CONNECTOR COVER PRODUCTS
—_— PN 19-FEB-24
[J NEXTBUY ——REFERENCE DESCRIPTION OF CHANGE
& NEXT PRODUCTION REASON FOR CHANGE
&I WORK IN PROCESS . . . o
Due to declining sales and increasing challenges in maintaining product
K] FINISHED GOODS conformance, certain product part numbers are now discontinued.
The cost of materials and labor maintaining these products have increased to
[J RETURNS FROM FIELD the point where they can no longer be sustained.
0 UNITS IN FIELD
K] UNITS IN STOCKROOM Products will be available until current inventory is depleted.
No future replacement is planned.
TYPE OF CHANGE

DOCUMENTATION
SYSPRO / SYSTEM

REASON FOR CHANGE
[0 DRAWING ERROR
O FACILITATE MFG

O MEET SPECS
O PRODUCT IMPROVEMENT

O venNDOR
[X] DISCONTINUED

DESCRIPTION OF CHANGE

Mark as DISCONTINUED for areas related to color Gray as follows:

Update Drawing # Change to:
0002-200-127RevB  RevC
0002-200-127TRevB RevC
0002-200-127T3RevA RevB

0002-200-128RevA  RevB
0002-200-128TRevA RevB
DOCUMENTS REVISED 0002-200-128T3 RevA
0002-200-129RevA  RevB
k1 ASSEMBLY DRAWING 0002-200-129TRevA RevB
K 0002-200-129T3 RevA
BILL OF MATERIALS 0002-200-130RevA  RevB
0002-200-130TRevA RevB
QA PROCEDURE 0002-200-130T3 RevA
Xl scHEmMATIC
X FABRICATION DWG This document contains 14 pages
TEST PROCEDURES
O ENGINEERING MATERIALS
SV S — e —F
ENCLOSURES N
PRODUCTION PRODUCT MKTG
COSTS QUALITY ASSURANCE TEST ENGINEERING
TIME: HRS @ = < AN I .
MATERIALS = v”—_\ [—4&/ O a_
TOTAL= VICE PRESIDENT DESIGN

QFRM-0002

Page 1




Northern Technologies

Product Discontinuation Announcement
February 19, 2024

Due to declining sales and increasing challenges in maintaining product conformance, certain
product part numbers are now discontinued.

The cost of materials and labor maintaining these products have increased to the point where they
can no longer be sustained.

Discontinued Product Part Numbers

C88E200005, C88E200005T, CB8E200005T3, C88E201005, C88E201005T, C8B8E201005T3,
C88E210005, C88E210005T, C88E210005T3, C88E211005, C88E211005T, CBBE211005T3,
C88E220005, C88E220005T, C88E220005T3, C88E221005, C88E221005T, C88E221005T3,
C88E230005, C88E230005T, C88E230005T3, C88E231005, C88E231005T, C88E231005T3,
A30E200005, A30E201005, A30E210005, A30E211005, A30E220005, A30E221005,
A30E230005, A30E231005

Replacement Product Part Numbers

Products will be available until current inventory is depleted.
No future replacement is planned.
REF: ECN0844

For further information please contact:
sales@northerntech.com (1-800-456-1875)

Northern Technologies, Markham, Ontario CA cpp_45D series _covers_grey disc_02192024



0.400 [10.16]

| 0.984 [24.99]

LOGO AREA
(IF APPLICABLE)

0.640 [16.25]

©
7
NN

1.575

COVER HALVES

[40.00]

_

1.217 [30.91]

$0.310 [7.871]
$0.280 [7.11]

$0.254 [6.43]
r /— $0.210 [5.331]

[)

—

$0.350 [8.89] ‘\

—

||
B
+‘E
-
— -
- —
- -
T
I~
==

e
Ll

Ly
Ay
.

]
U

JACKET INSERT TREE
QTY: 1

#4—40 X 7/16” FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC

QTY: 2 EACH

/ﬂ ““”7”’“@ o N\

#4—40 #2 BLANK HEX NUT
MATERIAL — STEEL

FINISH — BRIGHT ZINC
QTY: 2 EACH

#4—40 X 1/2" FILLISTER HEAD CAPTIVE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC

QTY: 2 EACH

#4 SADDLE WASHER
MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 2 EACH

THIS IS A CONTROLLED DOCUMENT AND IS

SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE
LATEST REVISION.

REVISIONS
ZONE | REV DESCRIPTION DATE APPROVED
A ECN 0607 10-AUG-06
B |[ECN 0733 06-NOV-13
C ECN 0844 19-FEB-24
NO LOGO NORTECH LOGO
Northern
Tecknologibs
PART NUMBER INFORMATION
COLOR: BLACK COLOR: GRAY — DISCONTINUED
PART# LOGO STYLE SUPPLIED PART# LOGO STYLE SUPPLIED
A30E200004 |[NO LOGO BULK A30E200005 [NO LOGO DISCONTINUED
C88E200004 [NO LOGO PACKAGED C88E200005NO LOGO DISCONTINUED
A30E201004 |[NORTECH LOGO |BULK A30E201005 [NORTECH LOGO* | DISCONTINUED
C88E201004 [NORTECH LOGO | PACKAGED C88E201005 [NORTECH LOGO* | DISCONTINUED
* — SPECIAL ORDER ITEM - CONTACT NORTHERN TECHNOLOGIES
CONNECTOR COVER:
1.MATERIAL: THERMOPLASTIC UL94V-0
2.COLOR: BLACK
3.DIMENSIONS: INCHES [MM]
4. TOLERANCE: £0.015 [0.381]
JACKET INSERT TREE
1.MATERIAL: POLYPROPYLENE HOMOPOLYMER
2.COLOR: BLACK
3.DIMENSIONS: INCHES [MM]
4.TOLERANCE: +0.010 [0.254]
UNLESS OTHERWISE Northern THIS DRAVING IS THE PROPERTY OF
SPECIFIED - TSR RS R,
L ALL DIMENSIONS ARE IN TeChn°|ogleS TECHNOLOGIES WRITTEN PERMISSION.
INCHES (MM)
2. DIMENSIONS ARE TYPICAL
PART NUMBER SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION CPP 09 45 DEGREE EXIT
JsSD 27— APR—05 TWO PIECE PLASTIC COVER
CHECKED SIZE | CODE DWG NO. REV
SCN 27-APR-05 | o 200_127 0002-200—127 C
ISSUED — —
01=SEP=05 TgcaLE 1:1 SHEET 1 OF 1




80.400 [10.16]

| 0.984 [24.99]

LOGO AREA

(IF APPLICABLE)

1.217 [30.91]

$0.350 [8.89] ‘\

—

$0.310 [7.871]

$0.280 [7.11]

/f¢0.854 L

1.575 [40.00]

ﬁ

6.
@

-

el
——

ety
ey
ey
u

—

-EE_

Ly

———
— -
-~
— -
Ty

e

Ll

JACKET INSERT TREE

QTY: 1

4531
0.210 [35.33]

0.640 [16.25]

COVER HALVES

FINISH — BRIGHT ZINC
QTY: 2 EACH

E#4—40 X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL

#4—40 #2 BLANK HEX NUT
MATERIAL — STEEL
FINISH — BRIGHT ZINC

QTY: 2 EACH
G > #4 SADDLE WASHER
MATERIAL — STEEL
|IEII FINISH — BRIGHT ZINC
QTY: 2 EACH

FINISH — BRIGHT ZINC
QTY: 1 EACH

AN

MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 1 EACH

THIS IS A CONTROLLED DOCUMENT AND IS
SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE
LATEST REVISION.

% #4—40 X 1.94 THUMBSCREW
/MATERIAL — STEEL

#4—-40 X 0.84 THUMBSCREW

REVISIONS
ZONE REV DESCRIPTION DATE APPROVED
A |ECN 0733 06-NOV-13
B ECN 0844 19-FEB-24
NO LOGO NORTECH LOGO

Tocknoiogis

PART NUMBER INFORMATION

COLOR: BLACK

PART# LOGO STYLE SUPPLIED
C88E200004T3 [NO LOGO PACKAGED
C88E201004T3 [NORTECH LOGO | PACKAGED

COLOR: GRAY — DISCONTINUED

PART# LOGO STYLE SUPPLIED
C88E200005T3 [NO LOGO DISCONTINUED
C88E201005T3 [NORTECH LOGO* | DISCONTINUED

* — SPECIAL ORDER ITEM - CONTACT
NORTHERN TECHNOLOGIES

CONNECTOR COVER:

1.MATERIAL: THERMOPLASTIC UL94V-0
2.COLOR: BLACK

3.DIMENSIONS: INCHES EMM]
4. TOLERANCE: +0.015 [0.381]

JACKET INSERT TREE

1.MATERIAL: POLYPROPYLENE HOMOPOLYMER
2.COLOR: BLACK

3.DIMENSIONS: INCHES EMM]
4.TOLERANCE: £0.010 [0.254]

UNLESS OTHERWISE Northern THIS DRAVING IS THE PROPERTY OF
SPEC|F|ED . NORTHERN TECHNOLOGIES AND SHOULD
L AL DIMESIONS ARE N Technologies TECHNGLOGIES VRITTEN PERMISSION,
INCHES (MM)
2. DIMENSIONS ARE TYPICAL
PART NUMBER SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION CPP 09 45 DEGREE EXIT
JsSD 09-DEC-08 TwO PIECE PLASTIC COVER WITH THUMBSCREWS
CHECKED SIZE | CODE DWG NO. REV
SCN 09-DEC-08 | 7 200_127T3 0002-200—127T3 B
ISSUED
09-DEC-08 |SCALE N.T.S. SHEET 1 OF 1




80.400 [10.16]

| 0.984 [24.99]

LOGO AREA
(IF APPLICABLE)

0.640 [16.25]

1.575 [40.00]

1.217 [30.91]

$0.350 [8.89] ‘\

—

$0.310 [7.871]

$0.280 [7.11]

$0.254 [6.43]
r /—¢0.810 [5.331]

-

el
——

Ly
Ay

[)

T
K=y
Ri=8

e
Ll

.
u
s

JACKET INSERT TREE

QTY: 1

FINISH — BRIGHT ZINC

QTY: 2 EACH

#4—40 #2 BLANK HEX NUT

MATERIAL — STEEL

FINISH — BRIGHT ZINC

QTY: 2 EACH

QTY: 2 EACH

QTY: 2 EACH

=N

THIS IS A CONTROLLED DOCUMENT AND IS
SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE
LATEST REVISION.

#4 SADDLE WASHER
I MATERIAL — STEEL
OH FINISH — BRIGHT ZINC

#4—-40 X 1.94 THUMBSCREW
MATERIAL — STEEL
FINISH — BRIGHT ZINC

REVISIONS

ZONE

REV

DESCRIPTION

DATE

APPROVED

A [ECN 0667

09-DEC-08

B [ECN 0733

06-NOV-13

C |ECN 0844

19-FEB-24

COVER HALVES
#4—-40 X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL

NO LOGO

NORTECH

LOGO

Tocknoiogis

PART NUMBER

COLOR:

BLACK

INFORMATION

PART#

LOGO STYLE

SUPPLIED

C88E200004T

NO LOGO

PACKAGED

C88E201004T

NORTECH LOGO

PACKAGED

COLOR:

GRAY —

DISCONT

INUED

PART#

LOGO STYLE

SUPPLIED

C88E200005T

NO LOGO

DISCONTINUED

C88E201005T

NORTECH LOGO*

DISCONTINUED

* — SPECIAL ORDER ITEM - CONTACT
NORTHERN TECHNOLOGIES

CONNECTOR COVER:

1.MATERIAL: THERMOPLASTIC UL94V-0
2.COLOR: BLACK

3.DIMENSIONS: INCHES EMM]

4.TOLERANCE:

+0.015

JACKET INSERT TREE

1.MATERIAL: POLYPROPYLENE HOMOPOLYMER
2.COLOR: BLACK

0.381]

3.DIMENSIONS: INCHES [MM]
4.TOLERANCE: +0.010 [0.254]
UNLESS OTHERWISE Northern THIS DRAVING IS THE PROPERTY OF
SPECIFIED : NDT B REPRODUCED WITHOUT NORTHERN
L AL DIMENSIONS ARE IN TeChnC)'OgleS TECHNOLOGIES WRITTEN PERMISSION,
INCHES (MM)
2. DIMENSIONS ARE TYPICAL
PART NUMBER SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION CPP 09 45 DEGREE EXIT
JsSD 24-JAN-07 TwO PIECE PLASTIC COVER WITH THUMBSCREWS
CHECKED SIZE | CODE DWG NO. REV
SCN 24=JAN-07 | 5 200_127T 0002-200—127T c
ISSUED
24-JAN-07 |SCALE NT.S. SHEET 1 OF 1




1.312 [33.32]

\ $0.400 [10.10]

LOGO AREA
(F APPLICABLE)

AN
4 1.713 [43.51]
I

1.544 [39.24] —=

$0.310 [7.871]
$0.280 [7.11]

$0.254 [6.43]
r $0.210 [5.331]

—

$0.350 [8.89] ‘\

ﬁ

—

|
-
—Q—E
~
- -
~ —
R
~—
~—
==

Ll

Ly
Ay
Ly

]
U

JACKET INSERT TREE
QTY: 1

0.640 [16.24]

7— COVER HALVES

o N\ [

REVISIONS
ZONE REV DESCRIPTION DATE APPROVED
A ECN 0607 10-AUG-06
B ECN 0844 19-FEB-24
NO LOGO NORTECH LOGO

Toakaowofibs

PART NUMBER INFORMATION

COLOR: BLACK COLOR: GRAY — DISCONTINUED
PART# LOGO STYLE SUPPLIED PART# LOGO STYLE SUPPLIED
A30E210004 [NO LOGO BULK A30E210005 [NO LOGO DISCONTINUED
CB88E210004 |[NO LOGO PACKAGED CBBE210005|NO LOGO DISCONTINUED
A30E211004 |[NORTECH LOGO*|BULK A30E211005 |[NORTECH LOGO* | pisconTINUED
ﬁiT—E”&?AE 7/ ;ngLF”-'-'STER HEAD MACHINE SCREW C88E211004 |[NORTECH LOGO* | PACKAGED CBBE211005 |[NORTECH LOGO* | piscoNTNUED
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE) % — SPECIAL ORDER ITEM - CONTACT NORTHERN TECHNOLOGIES
QTY: 2 EACH
EL_\k#ﬁf—dfo #2 BLANK HEX NUT
MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE) CONNECTOR COVER:
QTY: 2 EACH
1.MATERIAL: THERMOPLASTIC UL94V—0
2.COLOR: BLACK
#4—40 X 1/2” FILLISTER HEAD CAPTIVE SCREW 3.DIMENSIONS: INCHES [MM]
MATERIAL — STEEL 4. TOLERANCE: £0.015 [0.381]
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH
JACKET INSERT TREE
1.MATERIAL: POLYPROPYLENE HOMOPOLYMER
2.COLOR: BLACK
— #4 SADDLE WASHER 3.DIMENSIONS: INCHES EMM]
MATERIAL — STEEL 4.TOLERANCE: £0.010 [0.254]
||E|| FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH
NS O ERWISE Northern RO Ny g
SPEClFlED Technolo ies NOT BE REPRODUCED WITHOUT NORTHERN
L m—éHEISME(uﬂ?NS ARE IN g TECHNOLOGIES WRITTEN PERMISSION,
% DMENSIONS ARE TYPIGAL PART NUMBER PART NUMBER INFORMATION
THIS IS A CONTROLLED DOCUMENT AND IS SEE
SUBJECT TO_ CHANGE. CONTACT NORTHERN DRAWN DESCRIPTION CPP 15 45 DEGREE EXIT
TECHNOLOGIES ENGINEERING FOR THE
LATEST REVISION. JSD 27—APR—05 TwO PIECE PLASTIC COVER
CHECKED SIZE | CODE DWG NO. REV
SCN 27-APR-05 | g 200_128 0002—-200—128 B
ISSUED _SEP—
01-SEP=05 | gcALE 1:1 SHEET 1 OF 1




1.312 [33.32]

\ 0.400 [10.10]

LOGO AREA

0.640
(IF APPLICABLE)

/ 1.713

]

1.544 [39.24] —=|

[43.51]

L1

R (_

$0.310 [7.871]
$0.280 [7.11]

80.254 [6.
f s

—

$0.350 [8.89] ‘\

ﬁ

—

|
el
—Q—E
—
— -
—~ —
- -
T~
I~
-

Ll

Ly
Ay
Ly

]
U

JACKET INSERT TREE
QTY: 1

[16.24]

4531
0.210 [35.33]

bﬁ
o N\ /|

7— COVER HALVES

REVISIONS

#4—40 X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC

QTY: 2 EACH

ol

#4—40 #2 BLANK HEX NUT
MATERIAL — STEEL

FINISH — BRIGHT ZINC

QTY: 2 EACH

#4 SADDLE WASHER
MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 2 EACH

% #4—40 X 1.94 THUMBSCREW
/MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY:

\

1 EACH

#4—40 X 0.84 THUMBSCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC

QTY: 1 EACH

ZONE REV DESCRIPTION DATE APPROVED
A ECN 0844 19-FEB-24
NO LOGO NORTECH LOGO
Northsrn
Tochnologibs
PART NUMBER INFORMATION
COLOR: BLACK
PART# LOGO STYLE SUPPLIED
C88E210004T3 |NO LOGO PACKAGED

C88E211004T3 |NORTECH LOGO* | PACKAGED

COLOR: GRAY — DISCONTINUED
PART# LOGO STYLE SUPPLIED
C88E210005T3 [NO LOGO DISCONTINUED

C88E211005T3 [NORTECH LOGO* | DISCONTINUED

* — SPECIAL ORDER ITEM - CONTACT
NORTHERN TECHNOLOGIES

CONNECTOR COVER:

1.MATERIAL: THERMOPLASTIC UL94V-0
2.COLOR: BLACK

3.DIMENSIONS: INCHES EMM]
4. TOLERANCE: +0.015 [0.381]

JACKET INSERT TREE

1.MATERIAL: POLYPROPYLENE HOMOPOLYMER
2.COLOR: BLACK

3.DIMENSIONS: INCHES EMM]
4.TOLERANCE: £0.010 [0.254]

UNLESS OTH

INCHES (MM)

ERWISE

SPECIFIED
1. ALL DIMENSIONS ARE IN
2. DIMENSIONS ARE TYPICAL

Northern
Technologies

THIS DRAWING IS THE PROPERTY OF
NORTHERN TECHNOLOGIES AND SHOULD
NOT BE REPRODUCED WITHOUT NORTHERN
TECHNDLOGIES WRITTEN PERMISSION.

PART NUMBER SEE PART NUMBER INFORMATION

DRAWN DESCRIPTION CPP 15 45 DEGREE EXIT
JSD 09-DEC-08 TwO PIECE PLASTIC COVER WITH THUMBSCREWS
CHECKED SIZE | CODE DWG NO. REV
THIS IS A CONTROLLED DOCUMENT AND IS - -
SUBJECT TO CHANGE. CONTACT NORTHERN SCN 09-DEC-08 B 200_128T3 0002—-200—128T3 A
TECHNOLOGIES ENGINEERING FOR THE ISSUED
LATEST REVISION. 09-DEC-08 |SCALE NTsS. SHEET 1 OF 1




1.312 [33.32]

\ $0.400 [10.10]

LOGO AREA 0.640 [16.24]

(IF APPLICABLE)

I4 1.713 [43.51]

R (_

1.544 [39.24] —~

$0.310 [7.871]
$0.280 [7.11]

$0.254 [6.43]
/7 /— $0.210 [5.331]

[)

—

$0.350 [8.89] ‘\

o
J[E_
=
iy

e
——
—~f
- -
—~
- -
~
|

e
Ll

Ly
ey

.
u
U

JACKET INSERT TREE
QTY: 1

7— COVER HALVES

ol N\ |

TN ;

#4—-40 X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC

QTY: 2 EACH

MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 2 EACH

UK#4_4O #2 BLANK HEX NUT
—

%

N\

#4 SADDLE WASHER
MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 2 EACH

#4—-40 X 1.94 THUMBSCREW
/MATERIAL — STEEL
FINISH — BRIGHT ZINC

QTY: 2 EACH

REVISIONS
ZONE REV DESCRIPTION DATE APPROVED
A | ECN 0667 09-DEC-08
B ECN 0844 19-FEB-24
NO LOGO NORTECH LOGO

Tookaciogibe

PART NUMBER INFORMATION

COLOR: BLACK
PART# LOGO STYLE SUPPLIED
C88E210004T [NO LOGO PACKAGED

C88E211004T|NORTECH LOGO* | PACKAGED

COLOR: GRAY —DISCONTINUED
PART# LOGO STYLE DISCONTINUED

C88E210005T [NO LOGO DISCONTINUED
C88E211005T |INORTECH LOGO* | piscoNTINUED

* — SPECIAL ORDER ITEM - CONTACT
NORTHERN TECHNOLOGIES

CONNECTOR COVER:

1.MATERIAL: THERMOPLASTIC UL94V-0
2.COLOR: BLACK

3.DIMENSIONS: INCHES EMM]
4.TOLERANCE: +0.015 [0.381]

JACKET INSERT TREE

1.MATERIAL: POLYPROPYLENE HOMOPOLYMER
2.COLOR: BLACK

3.DIMENSIONS: INCHES EMM]
4.TOLERANCE: £0.010 [0.254]

UNLESS OTHERWISE Nor‘thern THIS DRAVING IS THE PROPERTY OF
SPECIFIED Technologies SR, IS M SBD,
1 ALL DIMENSIONS ARE IN g' TECHNOLOGIES WRITTEN PERMISSION.
INCHES (MM)
2. DIMENSIONS ARE TYPICAL
PART NUMBER SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION CPP 15 45 DEGREE EXIT

JSD 24-JAN-07 TwO PIECE PLASTIC COVER WITH THUMBSCREWS
THIS IS A CONTROLLED DOCUMENT AND IS CHECKED 54— aN—07 |S'4E | CODE DWG NO. REV
SUBJECT TO CHANGE. CONTACT NORTHERN SCN B 200_128T 0002-200—-128T B
TECHNOLOGIES ENGINEERING FOR THE SSUED
LATEST REVISION. 24-JAN-07 |SCALE N.T.S. SHEET 1 OF 1



c_noble
Rectangle


1.857 [47.17]

:
m\
J

.

$0.522 [13.26]

A
N—L

—
\7 2.090 [53.08] — =

LOGO AREA
(IF APPLICABLE)

©

A

1.880 [47.75]

$0.410 [10.411
$0.360 [9.14]

$0.300 [7.62]
I $0.230 [5.84]

| | /

90,450 [11.431

S

e
—~
— -
~—y
-

T

Ll

=]

JACKET INSERT TREE
QTY: 1

W/ | W/

3

g

Lﬁ
A N\

ol

’——‘>0.71O [18.03]

REVISIONS
ZONE | REV DESCRIPTION DATE APPROVED
A ECN 0607 10-AUG-06
B ECN 0844 19-FEB-24
NO LOGO NORTECH LOGO
>—COVER HALVES
Northern
Tecknologibs
PART NUMBER INFORMATION
COLOR: BLACK COLOR: GRAY — DISCONTINUED
PART# LOGO STYLE SUPPLIED PART# LOGO STYLE SUPPLIED
A30E220004 |NO LOGO BULK A30E220005 |[NO LOGO DISCONTINUED
0.640 [16.26] C8BE220004 [NO LOGO PACKAGED C88E220005 [NO LOGO DISCONTINUED
A30E221004 |NORTECH LOGO |BULK A30E221005 [NORTECH LOGO* | DISCONTINUED
C88E221004 [NORTECH LOGO | PACKAGED C88E221005 [NORTECH LOGO* | DISCONTINUED
#4—40 X 7/16” FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL
% — SPECIAL ORDER ITEM - CONTACT NORTHERN TECHNOLOGIES
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH
#4—40 #2 BLANK HEX NUT .
T ATERIAL — STEEL CONNECTOR COVER:
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE) 1.MATERIAL: THERMOPLASTIC UL94V-0
QTY: 2 EACH 2.COLOR: BLACK
3.DIMENSIONS: INCHES [MM]
4 TOLERANCE: +0.015 0.381]
#4—40 X 1/2" FILLISTER HEAD CAPTIVE SCREW
MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE) JACKET INSERT TREE
QTY: 2 EACH 1.MATERIAL: POLYPROPYLENE HOMOPOLYMER
2.COLOR: BLACK
3.DIMENSIONS: INCHES MM]
4.TOLERANCE: +0.010 0.254]
#4 SADDLE WASHER
MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH
T Northem
L ALL DIMENSIONS ARE IN TeChnC)lOgleS TECHNOLOGIES WRITTEN PERMISSION,
INCHES (MM)
2. DIMENSIONS ARE TYPICAL
PART NUMBER SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION CPP 25 45 DEGREE EXIT
THIS IS A CONTROLLED DOCUMENT AND IS
SUBJECT TO CHANGE. CONTACT NORTHERN JSD 27—APR-05 TwO PIECE PLASTIC COVER
TECHNOLOGIES ENGINEERING FOR THE
CHECKED SIZE | CODE DWG NO. REV
LATEST. REVISION. SCN 27-APR-05 | "o 200_129 0002-200-129 B
ISSUED _ _
01=SEP=05 SCALE 1:1 SHEET 1 OF 1




1.857 [47.17]

‘
il
IJ

$0.522 [13.26]

LOGO AREA
(IF APPLICABLE)

©

N

A
\

]

—

1.880 [47.75]

R
\7 2.090 [53.08] ——

$0.410 [10.411

90,450 [11.431

$0.360 [9.14]

’—"0710 [18.03]
=S\

7— COVER HALVES

0.640 [16.26]

$0.300 [7.62]

I $0.230 [5.84]

I

I

/

Pt

.

LS

- -

mp

ALY LTt

JACKET INSERT TREE

QTY

vl

o/ N\ W/

FINISH — BRIGHT ZINC
QTY: 2 EACH

REVISIONS

§¥#4—40 X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL

#4—40 #2 BLANK HEX NUT

MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 2 EACH

#4 SADDLE WASHER
MATERIAL — STEEL

%ﬂ

QTY: 2 EACH

FINISH — BRIGHT ZINC
QTY: 1 EACH

\

MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 1 EACH

THIS IS A CONTROLLED DOCUMENT AND IS
SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE
LATEST REVISION.

FINISH — BRIGHT ZINC

% #4—40 X 1.94 THUMBSCREW
/MATERIAL — STEEL

#4—40 X 0.84 THUMBSCREW

ZONE | REV DESCRIPTION DATE APPROVED
A ECN 0844 19-FEB-24
NO LOGO NORTECH LOGO
Northern
Tecknologibs
PART NUMBER INFORMATION
COLOR: BLACK
PART# LOGO STYLE SUPPLIED
CB8E220004T3 NO LOGO PACKAGED
C88E221004T3 NORTECH LOGO |PACKAGED
COLOR: GRAY — DISCONTINUED
PART# LOGO STYLE SUPPLIED
CB88E220005T3 NO LOGO DISCONTINUED
C88E221005T3 NORTECH LOGO* |DISCONTINUED

* — SPECIAL ORDER ITEM - CONTACT
NORTHERN TECHNOLOGIES

CONNECTOR COVER:

1.MATERIAL: THERMOPLASTIC UL94V-0
2.COLOR: BLACK

3.DIMENSIONS: INCHES
4 TOLERANCE: +0.015

JACKET INSERT TREE

1.MATERIAL: POLYPROPYLENE HOMOPOLYMER
2.COLOR: BLACK

3.DIMENSIONS: INCHES
4. TOLERANCE: #0.010

03811

(05341

UNLESS OTHERWISE
SPECIFIED
L. ALL DIMENSIONS ARE IN

INCHES (MM)
2. DIMENSIONS ARE TYPICAL

Northern
Technologies

THIS DRAWING IS THE PROPERTY OF
NORTHERN TECHNOLOGIES AND SHOULD
NOT BE REPRODUCED WITHOUT NORTHERN
TECHNOLOGIES WRITTEN PERMISSION,

PART NUMBER SEE PART NUMBER INFORMATION

DRAWN DESCRIPTION CPP 25 45 DEGREE EXIT
JsSD 09-DEC-08 TwO PIECE PLASTIC COVER WITH THUMBSCREWS
CHECKED SIZE | CODE DWG NO. REV
SCN 09-DEC-08 B 200_129T3 0002—-200—129T3 A
ISSUED
09-DEC-08 | SCALE N.T.S. SHEET 1 OF 1




1.857 [47.17]

‘
il
IJ

$0.522 [13.26]

LOGO AREA
(IF APPLICABLE)

N

1.880 [47.75]

Q © =
o
\

SN

ol

’—"0710 [18.03]
=S\

7— COVER HALVES

0.640 [16.26]

R
\7 2.090 [53.08] ——

$0.410 [10.411
$0.360 [9.14]

$0.300 [7.62]
I $0.230 [5.84]

| | /

90,450 [11.431

LS

Ty
- -

Pt

LT
T

s
.

JACKET INSERT TREE
QTY: 1

o/ N\ W/

ol

%

\

#4—40 X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC

QTY: 2 EACH

#4—40 #2 BLANK HEX NUT
MATERIAL — STEEL
FINISH — BRIGHT ZINC

QTY: 2 EACH
— #4 SADDLE WASHER
i MATERIAL — STEEL
oM FINISH — BRIGHT ZINC
QTY: 2 EACH
#4—40 X 1.94 THUMBSCREW
/ MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 2 EACH

REVISIONS
ZONE REV DESCRIPTION DATE APPROVED
A [ECN 0667 09-DEC-08
B ECN 0844 19-FEB-24
NO LOGO NORTECH LOGO

Tocksoiogibs

PART NUMBER INFORMATION

COLOR: BLACK
PART# LOGO STYLE SUPPLIED
C88E220004T [NO LOGO PACKAGED

C88E221004T|NORTECH LOGO |PACKAGED

COLOR: GRAY — DISCONTINUED
PART# LOGO STYLE SUPPLIED

C88E220005T |NO LOGO DISCONTINUED
C88E221005T |INORTECH LOGO* | DISCONTINUED

* — SPECIAL ORDER ITEM - CONTACT
NORTHERN TECHNOLOGIES

CONNECTOR COVER:

1.MATERIAL: THERMOPLASTIC UL94V-0
2.COLOR: BLACK

3.DIMENSIONS: INCHES EMM]
4.TOLERANCE: £0.015 [0.381]

JACKET INSERT TREE

1.MATERIAL: POLYPROPYLENE HOMOPOLYMER
2.COLOR: BLACK

3.DIMENSIONS: INCHES EMM]
4.TOLERANCE: %0.010 [0.254]

UNLESS OTHERWISE Northern NORTHERN. TECHNOLOGIES. AND. SHLD
SPECIFIED T e Chn O' o i es NOT BE REPRODUCED WITHOUT NORTHERN
L ALL DIMENSIONS ARE IN g TECHNOLOGIES WRITTEN PERMISSION.
INCHES (MM)
2. DIMENSIONS ARE TYPICAL
PART NUMBER SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION CPP 25 45 DEGREE EXIT
JsSD 24-JAN-07 TwO PIECE PLASTIC COVER WITH THUMBSCREWS
CHECKED SIZE | CODE DWG NO. REV
THIS IS A CONTROLLED DOCUMENT AND IS - -
SUBJECT TO CHANGE. CONTACT NORTHERN SCN 24-JAN-07 B 200_129T 0002-200-129T B
TECHNOLOGIES ENGINEERING FOR THE ISSUED
LATEST REVISION. 24-JAN-07 | SCALE N.T.S. SHEET 1 OF 1




i |
J |

2

20

500 [63.50]

726 [18.44]

LOGO AREA
(IF APPLICABLE)

©

@\>§

—

]

2121

[53.87]

2.734 [69.44] ———

#0.640 [16.86]‘\

#0.560 [14.22]

f

$0.500 [12.701

#0.425 [10.801
$0.350 [8.89]

ﬁ

N

o

—\z‘

e
)

Al
L

&

sl

JACKET INSERT TREE
QTY: 1

REVISIONS
ZONE REV DESCRIPTION DATE APPROVED
A | ECN 0607 10-AUG-06
B | ECN 0844 19-FEB-24
0.906 [23.01]
N A
Ne—1
N NO LOGO  NORTECH LOGO
N
q ?COVER HALVES oo e
// PART NUMBER INFORMATION
COLOR: BLACK COLOR: GRAY — DISCONTINUED
PART# LOGO STYLE SUPPLIED PART# LOGO STYLE SUPPLIED
A30E230004 [NO LOGO BULK A30E230005 |NO LOGO DISCONTINUED
0.640 [16.26] CBBE230004 [NO LOGO PACKAGED CB8BE230005 [NO LOGO DISCONTINUED
: ) A30E231004 [NORTECH LOGO*|BULK A30E231005 |NORTECH LOGO* | pISCONTINUED
, CB88E231004 |NORTECH LOGO* | PACKAGED C88E231005 [NORTECH LOGO* | pIscoNTINUED
#4-40 X 7/16” FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL *x — SPECIAL ORDER ITEM - CONTACT NORTHERN TECHNOLOGIES
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 3 EACH
U:p\#df—afo #2 BLANK HEX NUT
MATERIAL — STEEL _
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE) CONNECTOR COVER:
QTY: 3 EACH 1.MATERIAL: THERMOPLASTIC UL94V—0
2.COLOR: BLACK
i} 3.DIMENSIONS: INCHES [MM]
#4—-40 X 1/2” FILLISTER HEAD CAPTIVE SCREW 4.TOLERANCE: +0.015 [0.381]
MATERIAL — STEEL
FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH JACKET INSERT TREE
1.MATERIAL: POLYPROPYLENE HOMOPOLYMER
2.COLOR: BLACK
3.DIMENSIONS: INCHES [MM]
L #4 SADDLE WASHER 4. TOLERANCE: £0.010 60.254]
MATERIAL — STEEL
||E|| FINISH — BRIGHT ZINC (HEXAVALENT CHROMIUM FREE)
QTY: 2 EACH
e ERUTAES Northern I e S
Techno'o 'es NOT BE REPRODUCED WITHOUT NORTHERN
1. ALL DIMENSIONS ARE IN g TECHNOLOGIES WRITTEN PERMISSION.
INCHES (MM)
2. DIMENSIONS ARE TYPICAL
PART NUMBER SEE PART NUMBER INFORMATION
THSS IS A CONTROLLED DOCUMENT AND IS DRAWN DESCRIPTION CPP 37 45 DEGREE EXIT
TECHNOLOGIES ENGINEERING FOR THE JSD 27—-APR-05 TwO PIECE PLASTIC COVER
LATEST REVISION. CHECKED SIZE | CODE DWG NO. REV
SCN 27-APR-05 | o 200_130 0002—200—130 B
ISSUED _oFp_
01=SEP=05 1 scALE 1:1 SHEET 1 OF 1




i |
J |

2.500 [63.50]
80.726 [18.44]

O

@XE%}

—

]

2.121

2.734 [69.44] — o~

LOGO AREA
(IF APPLICABLE) 0.906 [23.01]
N P
1
[53.87] \\
q ?COVER HALVES
/
i
5 &i
0.640 [16.26]

#0.560 [14.22]

#0.640 [16.86]‘\

$0.500 [12.701

#0.425 [10.801
/7 $0.350 [8.89]

ﬁ

T

—\z‘

e

e ol 5T

Al
L

e o> e

(_7\

sl
o/ o/

JACKET INSERT TREE

QTY: 1

FINISH — BRIGHT ZINC
QTY: 3 EACH

REVISIONS

ZONE REV

DESCRIPTION

DATE APPROVED

A ECN 0844

19-FEB-24

E\#4—40 X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL

#4—40 #2 BLANK HEX NUT
MATERIAL — STEEL

FINISH — BRIGHT ZINC
QTY: 3 EACH

#4 SADDLE WASHER
MATERIAL — STEEL
FINISH — BRIGHT ZINC
QTY: 2 EACH

#4—40 X 1.94 THUMBSCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC

QTY: 1 EACH

#4—-40 X 0.84 THUMBSCREW
MATERIAL — STEEL

FINISH — BRIGHT ZINC

QTY: 1 EACH

NO LOGO

NORTECH LOGO

Tocaasiofbe

PART NUMB

ER INFORMATION

COLOR: BLACK

PART#

LOGO STYLE SUPPLIED

C88E230004T3

NO LOGO PACKAGED

C88E231004T3

NORTECH LOGO* | PACKAGED

COLOR: GRA

— DISCONTINUED

PART#

LOGO STYLE SUPPLIED

C88E230005T3

NO LOGO DISCONTINUED

C88E231005T3

NORTECH LOGO* | DISCONTINUED

* — SPECIAL ORDER ITEM - CONTACT
NORTHERN TECHNOLOGIES

CONNECTOR COVER:

1.MATERIAL: THERMOPLASTIC UL94V-0

2.COLOR: BLACK
3.DIMENSIONS:

4 TOLERANCE: +0.015

INCHES EMM]

0.381]

JACKET INSERT TREE
1.MATERIAL: POLYPROPYLENE HOMOPOLYMER

2.COLOR: BLACK
3.DIMENSIONS:

4. TOLERANCE: +0.010

INCHES EMM]

0.254]

UNLESS OTHERWISE
SPECIFIED
1 ALL DIMENSIONS ARE IN

INCHES  (MM)
2. DIMENSIONS ARE TYPICAL

Northern
Technologies

THIS DRAWING IS THE PROPERTY OF
NORTHERN TECHNOLOGIES AND SHOULD
NOT BE REPRODUCED WITHOUT NORTHERN
TECHNOLOGIES WRITTEN PERMISSION.

PART NUMBER SEE PART NUMBER INFORMATION

DESCRIPTION CPP 37 45 DEGREE EXIT
TwO PIECE PLASTIC COVER WITH THUMBSCREWS

DRAWN
JSD 09-DEC-08
THIS IS A CONTROLLED DOCUMENT AND IS
SUBJECT TO CHANGE. CONTACT NORTHERN CHECKED
TECHNOLOGIES ENGINEERING FOR THE SCN 09-DEC-08
LATEST REVISION.
ISSUED 09-DEC-08

SIZE | CODE
B 200_130T3

REV
0002—-200-130T3 A

DWG NO.

SCALE N.T.S.

SHEET 1 OF 1




|
|

2.500 [63.50]
80.726 [18.44]

O

@XE%}

]

—

2.734 [69.44] — o~

#0.640 [16.86]‘\

LOGO AREA
(IF APPLICABLE) 0.906 [23.01]
N P
1
2.121 [53.87] \\
q ?COVER HALVES
/
1)
5 d,
0.640 [16.26]

#0.560 [14.22]

$0.500 [12.701

#0.425 [10.801
/7 $0.350 [8.89]

ﬁ

e ol 5T

T

e

e o> e

W/ N\ \/

Al
L

(_7\

—\z_
sl

JACKET INSERT TREE

QTY: 1

REVISIONS
ZONE | REV DESCRIPTION DATE APPROVED
A | ECN 0667 09-DEC-08
B ECN 0844 19-FEB-24
NO LOGO NORTECH LOGO
Northetrn
Tocknologibs
#4—40 X 7/16" FILLISTER HEAD MACHINE SCREW
MATERIAL — STEEL PART NUMBER INFORMATION
FINISH — BRIGHT ZINC
QTY: 3 EACH COLOR: BLACK
PART# LOGO STYLE SUPPLIED
K CBBE230004T|NO LOGO PACKAGED
ﬁi‘FEAEeCI)AI# 2_BIS_¢EIE<L HEX NUT C88E231004T|NORTECH LOGO* | PACKAGED
FINISH — BRIGHT ZINC
QTY: 3 EACH COLOR: GRAY — DISCONTINUED
DISCONTINUED
— #4 SADDLE WASHER PART# LOGO STYLE
] MATERIAL — STEEL C88E230005T|NO LOGO DISCONTINUED
||Q!I FINISH — BRIGHT ZINC C88E231005T|NORTECH LOGO* |pIscONTINUED
QTY: 2 EACH
% — SPECIAL ORDER ITEM - CONTACT
% NORTHERN TECHNOLOGIES
#4—40 X 1.94 THUMBSCREW
/ MATERIAL — STEEL
A FINISH — BRIGHT ZINC CONNECTOR COVER:
QTY: 2 EACH 1.MATERIAL: THERMOPLASTIC UL94V—0
2.COLOR: BLACK
3.DIMENSIONS: INCHES EMM]
4 TOLERANCE: +0.015 [0.381]
JACKET INSERT TREE
1.MATERIAL: POLYPROPYLENE HOMOPOLYMER
2.COLOR: BLACK
3.DIMENSIONS: INCHES [MM]
4.TOLERANCE: +0.010 [0.254]
UNLESS OTHERWISE
S5 cOTHER Northern ToLs VD I T PROZCRTY OF
TeChnO|O ieS NOT BE REPRODUCED WITHOUT NORTHERN
1, ALL DIMENSIONS ARE IN g TECHNOLOGIES WRITTEN PERMISSION.
INCHES (MM)
2. DIMENSIONS ARE TYPICAL
PART NUMBER SEE PART NUMBER INFORMATION
DRAWN DESCRIPTION CPP 37 45 DEGREE EXIT
JSD 24-JAN-07 TwO PIECE PLASTIC COVER WITH THUMBSCREWS
THIS IS A CONTROLLED DOCUMENT AND IS CHECKED SIZE | CODE DWG NO. REV
SUBJECT TO CHANGE. CONTACT NORTHERN
TECHNOLOGIES ENGINEERING FOR THE SCN 24-JAN-07 B 200_130T 0002-200-130T B
LATEST REVISION.
ISSUED
24-JAN-07 SCALE N.T.S. SHEET 1 OF 1






